| Efficiency vs Dxy |

>0.05
X
©
#.045
>
80.04
k)
9.035
0.03
0.025
0.02
0.015

eff

0.005

Ratio

0.01

1

1.1

1
0.9

0.8

B T50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

| Efficiency vs Dz |

—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_mod-127

N 0.2
o]

> -

0.06f i
0.04F :
0.02f

V| SR

§0.26F — i

o L E :
E0.14 preseeee :
o : :

0.2 N At St R
O |

1| S

.................................................

—— DQM_TT__mkFit-DQM_mod_updatedmod-127

1Q

Ratio

1
0.9
0.8

0.7

20
TP dz (cm)

30




	Contents
	Page 1


